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3 = 2 (x-4x) +11

=2 (1x-25-4) + 1)

= 2/x-27 + 3 ↓a=2, 6=-2 c=3

stat pt: (2,3)

(x+3=2/x-2)"+3

x = (x-2)2

x= x-4x +4

0 = x
=

5x +4

O = (x-4)<x-1)

x = 1 Or 4

y = 5 or 11

Dist= (11-5)"

-St6"
= IF5 :

K = 45
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= O

In m= 3

3

m = 2 = 20.085

= 20.1 grams

m = 10.05

In m = 2307

t = 2.8 mins
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5-4X+6

distt62+Et

consider*ext = A+

50-4x +6 = A(x2) + (3x+2)(x)
when X = 0 6 = CA = A = 3

compare coefficient of x
- 4 = G

compare coefficient
of x2:5 =3+B

B: 2

:Ext62+ +fl
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Sub In X =K Sub in x = 2K

f 3.= 14K-K2
3= 14121-12K)

"

Yp > Ya

28K-44) 14K-14

- 3K4 +14k > 0

K 1-3K+14) > 0

:ockc
*

9 14 x -x

: 14-2x

/=x14-2K /x=2114-4K
·0CK<7

then 14-2K <14-4K.

.grad at curve A is always greater than the grad of the curve at B
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16-1)5=5c7' +ic2"7)' +523724 +53278+...

=32-400x + 20x-5x+...

coefficient of 1:2 (209) + 31-40a)
= 400-120 a

=>40a" - 120 a = 0

a?-3a= 0

a= 0 or a = 3
f

rej:aso

coefficient of x3: 25523 + 31092)

a=3

coefficient of x
= 270
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- = -2e-
✗
t 3 e
"
t C

ᵈ /✗ = , = 3 = -2 + 3 + C

⇒ C = 2

y = 2 e-
✗
+ 3-2 e
"
+ 2x + d

sub in ( o , 5)
+ I + d

y = 2 e-
✗
t 3-2 e
"

+ 2X + {
≈
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(i) 4 PRS =c2 (Tangents from ext points)
:
4RST = 2x (Exterior angle property)

(ii) IPQR = (2 (AH.segThm)
*QPT = 900 (Tangent 1 radius)
4RTP = 90-31 (Sumot 4 in 0) = 4RTS = 90-X

4ORS = 900 (Tangent 1 radius)
OR = OR (radius) => 0 ORR is isosceles

:4QRO = s

Hence 4SKT = 900x (4 in straight line)
- 4RTS

URST is isosceles O.
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y=3✗¥
9=35, } J✗=

45×-7+3

16 ✗ = ✗2-16×-19

0 = ✗2- 10×-19

◦ = ☒ - 9) 1×-1)

✗ = 9 or I

y=9 or I

:P ( 1,11 Q(9,9 )



Megaphone
y = 351

= 3×-1 K ⇒ y :-# ✗ + ¥

%d= 3-2 ✗
"£

= ¥
¥ = :-<
Tx = 2

✗ = 4 : y =
6

sub in



VERGEBOARD

y = ✗
3- aiitbx -14

9£, = 3×2_ Lax tb

For × 70

b
'
- 4ac < 0

(-242-413) /b) < 0

4a2_ Kb 20

at < bb

Let flx) = ✗3- 8×2+10×+4

try ✗ = 2

-112) = 8-32-120-14 = 0

-
: By factor theorem (✗-2) is a factor

⇒ ✗3- 8×2+10×-14 = (x-2) ( ✗
'

+ Ai - 2)

compare coefficient of ✗
2

: -8 = A -2

A = - 6

let ×
'
- 6×-2=0

× :6IÑ =H = = 3-1-51

i. the ✗ - coordinate of the 3 points are 2
,
3-11-11

,
3- IT
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amplitude : 2

period : 21T

amplitude : 4

period : TI

i" ¥1T
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g- Coordinate of A & B are the same
.

Hence AB is a horizontal line .

×Dist AB is 6 units

Given area of SABC is 15 ⇒ {C-B) h = 15
3h = 15

h = 5

Hence q can be -3 or 7 and since

qis positive , q=7

A-E- (p-4)2+4--25 = 89

p2 - 8p -116-125 = 89

p2 _ 8ps - 48 = O

p = 12
Or - 4
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Dot oscillates between period = 24

A- & B
, passing through 0 .

: n # 2T

Then ÉAB is amplitude .

Since n= ¥ shown

AB is 120
, it follows a= 60

✗ = 60 Sin Igt

¥ = 60 cos Ist ◦ (¥)
= WTI cos ¥ I

Max vet : WIT ants [ when cos t = 1)

ᵈd¥z : -201T sin /¥)
= _ 20T¥ sin (Et)

At point A 60=60sin -4

sin §-1--1

may
accdationat A : •cmYs
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¥× = 41×+14×+4,1=4×+4
= ¥yi ≠ 0 for all ✗ Elk

-

:
,
-1-0

,
curve does not have a stationary point .
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{ = ¥5
= 4

✗+1=2 . : ✗ so at point P

✗ = I ⇒ y =3

Eq "- of normal y -3=-21×-1 )

y = -2×+5

point A :(5-210) point B / 0,5)

Area of OAOB = { (5)(E)
= 2¥ units

"

4T¥, -- 4-¥ ✗ +154%+2
-4×+4=2¥1 ≠ 0 for all ✗ C- 112

,
✗ ≠ -1

Hence 4- ¥4 ≠ 4

-
: line y=4 does not intersect

the curve.
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